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“when you program, the compiler is your best friend” ] )
: U gly) =—
When we program, we have to deal with errors
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#1include <stdio.h> CJUE e
int main(){
int m;
int n=44;
printf("m=%d, n=%d\n",m,n);
return(0) ;

}

gcc -Wall main.c

main.c: In function ‘main’:

i ]

main.c:7: warning: ‘m’ 1s used uninitialized 1n this function

gcc main.c e

/a.out T

sk

m = 8785908 and n = 44 car
ic
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#include <stdio.h>
int main(){
int a = 20000;
char c = a;
int b = ¢
|

if (a !'= b) // '= means “not equal”

~ printf("oops!: %d!=%d",a,b);

else 3 &’B

: printf(“"wWow! We have large characters\n"); 7
}//main ==

s Peanbp el



0 Q-0 f03)Ivde )U U T L] cwl pcio U Ul U
LU 1380 aslip saolsl )y af)l.m',o O pucy gfjldu.g

aal5 a5 9l ! O cuwleucios cispei siils ol i
AW/,0 adlb] iz (sl w CoNst (sauls

int main()
{
const char NLINE= '\n';
const int MAXINT = 2147483647;
const int N = MAXINT/2;
const float KM PER MI = 1.60934;
const double PI = 3.14159265358979323846;
PI = 5.14159265358979323846;
printf(“sch\tsd\tsd\tsf\t=f\n",NLINE, MAXINT,N,KM PER_MI,PI);
return 0;

main.c: In function ‘main’:

main.c:1@: error: assignment of read-only variable ‘PI’
A0 padio aslip )3 U S (5)3500 S)p d9ps O |) lacu Cuwwl Ligy
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Boolean literals
— true, false

Character literals
— 'a', 'x", 4", "\n", '$"

Integer literals
- 0,1, 123, -6, 0x34, 0xa3

Floating point literals
— 1.2,13.345, .3, -0.54, 1.2e3

String literals ""asdf"",
“This is a test!”
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int main()

{// prints "Hello,Wo rlid!":
printf("Hello,WSscrld%sc\n",'o"',"'!"):
return 0,

; ello World!

#include =<stdio.h=

int main()

{ // prints "The Millennium ends Dec 31 2000.":
printf("The Millennium ends Dec %d%d%c%d\n",3 ,1 ,' ',62000);
return ©;

}

L e

The Millennium ends Dec 31 2000
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Boolean -

#include =stdio.h=
int main(){
// print the value of a boolean variable
bool flag=true;
printf("flag=%d\n",flag };
flag=false;
printf("flag=%d\n/
}

', flag );

ahmad@ubuntu:~/Courses/ITP% gcc

boolean.c: In function ‘main’:

boolean.c:4: error: ‘bool’ undeclared (first use in this function)
boolean.c:4: error: (Each undeclared identifier is reported only once
boolean.c:4: error: for each func

ahmad@ubuntu:~/Courses/ITP$ g++ boolean.
ahmad@ubuntu:~/Courses/ITPS ./a.out
flag=1

flag=0
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{

int main()

int varl;

int var2;
varl=20;
var2=varl+l0;
printf("“varl+l0 is %d\n",var2);
return 0;
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int main()

{

char charvarl = 'A';

char charvar2 = '\t';
printf("%c%c",charvarl,charvar2);

charvarl = 'B’';
printf("%c\n",charvarl);
return 0;

Character "2 stored in memory
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Constant Character Constant Value
(ASCI code decimal)
A Capital A B5
'a’ Lowercase a a7
e Blank 32
.t Dot 46
! Digit 0 48
"\O" Terminating null character 0

s Peanbp el

Newline

Tab
Backspace
Beep sound
Double quote

Single quote

Null character
Question mark
Back slash
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#include<stdio.h>

int main() {
char c= ;
prlntf{ c = %c,\t int(c)=%d\n",c, c);
c—
prlntf{ c = %c,\t int(c)=%d\n",c, c);
=
prlntf{ c = %c, int(c)=%d\n",c, c);
=
prlntf{ c = %Cc, int(c)=%d\n",c, c);
return 0;

}

int(c)=65
int(c)=116

, 1nt(c)=9
1, 1nt(c)=33
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#include<stdio.h>
int main(){
printf("\nThis is \t a string\n\t\t"
"with many \"escape\" sequences!'\n");
return(©) ;

}//end mal

a string
with many "escape" sequences!
ahmad@ubuntu:~/MyData/courses/ITP%

a5 (53)1g8 ) by 2)lw) (31 )1 gy asplis
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int main()
{
double area, circuit, radius = 1.5;
const double pi = 3.141593;
area = pl1 * radius * radius;
circult = 2 * pi * radius;
printf("To Evaluate a Circle\n\n"
"Radius: %f\n"
"Circumference: %f\n"
"Area: %f\n",radius,circult,area);
return 0;

To Evaluate a Circle

Radius: 1.500000
Circumference: 9.424779
Area: 7.068584
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int main()

{// test operators +,-,%*,/,and %:
int m=54;
int n=20:
printf("m = %d end n = %d \n",m,n);
printf(“"m+n = %d \n",m+n);
printf("m-n = %d \n",m-n); m= 54 end n
printf("m*n = %d \n",m*n); mn = 74
printf("m/n = %d \n",m/n); m-n = 34
printf("m%scn = %d \n",'%',m%n); L
return 0; m/n =

14

m%n

b ganlp ¢l
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JI.-'+
An old-style C++ program.
*/

#include <jiostream.h>
int maini)

{

return 0; /%

¥ A modern-style C++ program that uses
the new-style headers and a namespace.

*/

#include <icstream>

using namespace std;

int main()
{

return 0:
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33)5¢,0 Include A0 10 (B 5,055
W a5 Cuwl d3ub gs\g 1039380 ) ol ubgm
3¢, AX4S namespace O\

3)1> 39a9 namespace Ay ) a5 (laadlgs °
)3 A5 33 Ml Jlaad)gs )| JoTws
.Cuwl Y533 namespace

o0 L namespace )» C++ Standard Library -
) a5 Ly std

Gl std b L namespace js a5 ).\A(_)\ > °
Sob 23y std sigi b 30¢»
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namespace -—

// This DoSomething() adds it's parameters
int DoSomething(int nX, int nY)

{
}

return nx + nY;

// This DoSomething() subtracts it's parameters
int DoSomething(int nX, int nY)

{
}

#include "foo.h"
#include "goo.h"
#include <iostream=

return nX - ny;

namespace.cpp

int main()

{

using namespace std;

cout << DoSomething(4, 3); // which DoSomething will we get?
return ©;

ahmad@ubuntu:~/Courses/ITP$ g++ -Wall namespace.cpp foo.h goo.
In file included from namespace.cpp:2:

goo.h: In function ‘int DoSomething(int, int)’:
goa.h:2: error: redefinition of ‘int DoSomething(int, int)’
foo.h:2:7error: ‘int DoSomething(int, int)" previously defined
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namespace foo{

// This DoSomething() adds it's parame
int DoSomething(int nX, int nY)
{

return nx + nY:
} |namespace goof{

} // This DoSomething() subtracts it's parameters
int DoSomething(int nX, int nY)
{
return nx - nY;
#include }

#include _};
#include <iostream=

?lahmadéubuntu:=?Cnur5e5?ITFg++.—Wall namespace.cpp foo.h goo.h -o test

int main() ahmad@ubuntu:~/Courses/ITP$ ./test
7
. 1

: ; OO

using namespace std; 4@@%p,
‘w ” T
%

using namespace foo;
cout << DoSomething(4, 3);
cout =< '\n';

cout << goo::DoSomething(4, 3);
cout << '\n‘;

A, petury §: namespace.cpp )
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cin >> variable;
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cout << variable:
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